Mot X|E(Metric)
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4-1 2|0l M2 It X| &

MAE(mean absolute error, MAE) : B+ ELH X}

MSE(Mean Square Error; MSE) : W X|&5 Xt

RMSE(Root Mean Square error, RMSE) : ™ Xl&g=2 2XHRMSE)
RMSLE(Root Mean Squared Logaithmic Error, RMSE)

MAPE(Mean Absolute Percentage Error : MAPE) : B+ &Ll 82 @X} H|&
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4-1 0| & QX

» MAE(Mean absolute Error; MAE) : B ELCl| @X}

* 0| = Of| 2 (Prediction Error) = M|} — 0| =%t

* A0 2X}(Absolute Error) -> [0S 2K}

. _ 5. DU2 0|58 I
MAE == 2i=1(lyi = yil ) v AH

n : O|O|H 7H=

* MAEE= 2X}0|7|0f 00| Z7H7t ™ =L 6



4-1 O|F 2K}

» MSE(Mean Squared Error; MSE) : E+ XN|& 2%}

MSE == X1 1(yl )’1\1)2 5i: DA 0=t Z

y,+ AR gt

n . GOJE] 7H%

* MSE= 2A+0[7[0f 00 77t ELt. 7

I



4-1 O|= X}

» RMSE(Root Mean Square error, RMSE) : W& Alg2 24X}
X

RMSE= Bt Xl& 2XHMSE) 2| Mla 22 = Lt 20 Fe[fTt,

n
1 " ol 2 o =3} 7t
_ + - ~ 2 y; ¢ EEE OZ||;OI_|' HA
RMSE = nZ()’i Vi) yi: MREIZ
\ = n : OO[H 7=

*MSEZ 0|5 XS For I, I X7t AHX|= As Me2s FZ22MN 28t 2L0|C




4-1 0|5 X}

» MAPE(Mean Absolute Percentage Error, MAPE)

- WA ALl 8E X} H|Z(Mean Absoulte Percentage Error : MAPE)

- MAPE= HMIE 2+S JHXICE 00| 2R AR 3|7 TR0l Ms0| =2,

- MAPE= 22X target(5£H=) 2L CHE| O|S2At H|E2| BMiZisS Bt =
2 X HO[E0| N LA O FEO| HI2 2 TH=X] =elotrt,

100 AT y; o BEE OFot 2t
MAPE = — Y1 X2 S

n Vi n O A

* MAPE= 0~100% AfO[2] f= ZtH O[8lst?| 2| d5 Bl sfA0| Its
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p 2= = (confusion matrix) or X} =

- Confusion matrixe =& DEO| s YI0X} & Ojj B0 AlE.

- YAE|F 85 /M W, BI5ks X BE BO0| AHE.
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—
s’

()
=
0
4

=N

Actual(&IH|)

=Y

Actual(&A))

Predict(0f|&)=Y

=N

Predict(0]|Z)
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p 2= s (confusion matrix)

(2) ‘P, 'N'O|A ‘P'= ‘Positive’, ‘N'= ‘Negatil
Actual(&X[) =Y Actual(&X[) =N

& N

Predict(0ilZ)=Y

Predict(0{|%)=N

< 4

(1) &e| True'= aX[2t 0= 0] LX. False'= GIF0] LX[OHX] 2=,

(2) Fl2| Positive, Negatives 0|5 & FAU2E =712 Y(Positive), N(Negative)
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» == 3 (confusion matrix)

Actual(&X[) =Y Actual(&X[) =N
e N
Predict(0ilZ)=Y
Predict(0{|%)=N
N /
(1) TPQ| B2, olIZ AE(True). A Y(1)2] 22 1(Positive) 2 0=
(2) TNS| H2, o= d3(True) X N(0)2| 22 0(Negative) 22 0|5
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» == 3 (confusion matrix)

Actual(&X[) =Y Actual(&X[) =N

& N

Predict(0ilZ)=Y

Predict(0iI%)=N

< 4

(1) FP2
(2) FN2

oX
4o 4o

n> =
=

=]

(False). AIH| N(0)2] 22 1(Positive)2 0=
pl i=]
=

(False). &A| Y(1)&| 2= O(Negative) 2 O|=

2 =2
Il

oM

15



» H=2E (Accuracy)
HH M= OO0l So|A |5t ¢40] ForL; & IR STt

I_

Actual=Y Actual=N
T 7

TP+ TN
TP+ FP+FN+TN

Predict=Y

M2t (Accuracy) =

Predict=N
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» MU (Precision)

Ol= YSol =X Y& g=ot ot =ts

A

Actual=Y Actual=N

FN TN
Predict=Y
ySl=1 . rp
S = I (Precision) = TP 1 Fp

Predict=N

17



p D1ZH T (Sensitivity, Recall, TPrate)

2H YL SOoIM O5S =otH Y= ot =5

Actual=Y Actual=N

Predict=Y
TP

U= (Sensitivity) =

TP + FN
TP

Predict=N

/ FN
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» E0|X(Specificity)

A N(AHA) ! A SoAM FSHH N(AR) = oS58t

ot

=

Actual=Y Actual=N

Predict=Y
TN

FP+TN
FP
TN

£ 0| &= (Specificity) =

Predict=N
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» Fprate - SEl #|0|A

|
AXIZ NGIZ)E0 0l50| S21 ZNQIE| 52 V) 3 H2

Actual=Y Actual=N

Predict=Y
FP

Fprate =
FP+TN

Predict=N
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» DIZE (Sensitivity, Recall, TPrate)2t FPrate

QlZtE - AX 2 YesQlh| 0|E0| YesZE =l 22
o
o

Fprate : 2 X2 No?QlH 0|Z0] YesZ

Actual=Y Actual=N

Predict=Y

Predict=N
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4-2 Metric

» ROC Curve

| =\qEoE ROC TMO| IIMELER
BEHREES 450 58

/

b

0 1-E0|% 100%
22
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» ROC Curve
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» ROC Curve

| ®AEOE ROC SMO| HHELE
BER2ES Y450 58

uge

0 1-E0|% 100%
[O2! 3-2] ROC =M
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4-2 Metric

» f-score

- f-scores QOO 2=
9 &= (Precision) 2} 12t E (Recall)of| CHSF T+

- OIEHIE s TT0lR g

25



» F1-score

- F-score?| utAlofM B =12 HLE f1-score2td SiC}.,

_ ,recall " +precision™ [ _1 _ ’: precision-recall
fi=( 2 )1=2

precision+recall

29| Li8 2 &= precision2} recall2| Harmonic mean(=Harmonic average)?} ElCt.
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4-2 Metric

+(Harmonic Mean)

t
N7l Q0| CHS1O! 1 2452 Ates BT Ho| 4B Ut

_ ,recall”t+precision™ (| _4 _ . precision-recall
fi=( 2 )

precision+recall
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